General Information:
This midterm is a sample midterm. This means:

e The sample midterm contains problems that are of similar, but not identical, difficulty to
‘those that will be asked on the actual midterm.

e The format of this exam will be similar, but not identical to the actual midterm. Note that
this may be a departure from the format used on exams in previous semesters!

e The sample midterm is of similar length to the actual exam.

e Note that there are concepts covered this semester that do NOT appear on this midterm.
This does not mean that these concepts will not appear on the actual exam! Remember,
this midterm is only a sample of what could be asked, not what will be asked!

How to take the sample exam:
The sample midterm should be treated like the actual exam. This means:

e “Practice like you play.” Schedule 55 minutes to take the sample exam and write answers
as you would on the real exam; include appropriate justification, calculation, and notation!

e Do not refer to your books, notes, worksheets, or any other resources.

e You should not need (and thus, should not use) a calculator or other technology to help
answer any questions that follow.

e The problems on this exam are mostly based on the Worksheets posted on the Math 1172
website and your previous quizzes.

However, in your future professions, you will need to use mathematics to solve many different
types of problems. As such, part of the goal of this course is:

— to develop your ability to understand the broader mathematical concepts (not to en-
courage you just to memorize formulas and procedures!)
— to apply mathematical tools in unfamiliar situations (Indeed, tools are only useful if

you know when to use them!)

There have been questions in your online homework and take-home quizzes with this intent,
and there could be a problem on the exam that requires you to apply the material in an
unfamiliar setting. To aid in preparation, there is such a problem on this sample exam.

How to use the solutions:

e Work each of the problems on this exam before you look at the solutions!

e After you have worked the exam, check your work against the solutions. If you are miss a
type of question on this midterm, practice other types of problems like it on the worksheets!

o If there is a step in the solutions that you cannot understand, please talk to your TA or
lecturer!




Math 1172 Name:

Sample Midterm 3 OSU Username (name.nn):

Spring 2016 Lecturer:

Recitation Instructor:

Form B Recitation Time:

Instructions

You have 55 minutes to complete this exam. It consists of 6 problems on 9 pages including
this cover sheet. Page 11 has possibly helpful formulas and may also be used for extra
workspace.

If you wish to have any work on the extra workspace pages considered for credit, indicate in
the problem that there is additional work on the extra workspace pages and clearly label
to which problem the work belongs on the extra pages.

The value for each question is both listed below and indicated in each problem.

Please write clearly and make sure to justify your answers and show all work! Correct
answers with no supporting work may receive no credit.

You may not use any books or notes during this exam

Calculators are NOT permitted. In addition, neither PDAs, laptops, nor cell phones are
permitted.

Make sure to read each question carefully.
Please CIRCLE your final answers in each problem.

A random sample of graded exams will be copied prior to being returned.

Problem | Point Value | Score

1 12
18
25
15
15
6 25

Total 100

O = | QO DO




Math 1172 - Sample Midterm 3 - Form B - Page 2

1. Multiple Choice [12 pts]

Circle the response that best answers each question. Each question is worth 4 points.
There is no penalty for guessing and no partial credit.

I. Consider the segment of the curve given by 7(t) = (2¢,4t?), 0 <t < L.

Suppose that the vector-valued function 7(7) = (47%,167%), 0 < 7 < a describes the
same segment of the curve. Then,

Aa=1 a=2 'C.a———\/T5 ' D. None of the above

. 2 - .
B\I compamg ‘ﬁ{\*;é_, X(’t) 319" Lj/t = "*:“ at? ‘:,Q) Tt i ;.:ufnftsnﬁ
n T, oamd s b=l wll coepond fo T g so
= 2a’®
—+ - 4
a -E Ly s[;

SM(?COO, chase 0:4_\5
M- 1

II. Which of the following is the equation of a plane that passes through (1, —2, —4) and
is parallel to the plane 2x +y — 3z = 37

A2z +y—32=3 B.2z+y—32=12

Crz—2y—4z=12 D. None of the above

Alx-xo) + Wly-yo) * clz-2,)=0.
‘The Pave 5 puulel to drey®32:3 9 Linys 4D 3>

* The folowme pats S -hymuah (\,‘Q,’H) 30 (Xo\\/or?o)f (l,’;),"u)'

Treplae s guon by Y(xeA)+ 1(y2) =3(g04)=0 - Dot 52- 3

I1I. Suppose that 7(t) = (t2,4t*) , —oo <t < oo. This curve is:

A. The entire parabola y = 422 YB. The right half of y = 4.722.\
C. The left half of y = 4z2. D. None of the above.
xe)=

Y ut = G (p)?
-y =i
Nole *(t)=12, so xlt)>0 b ali4'
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. Short Answer [1‘8 pts]

Directions: Answer the following questions. Each question is worth 3 points. You do not
need to justify your answer. There is no partial credit and no penalty for guessing.

Consider the function z = f(z,y) = /16 — 222 + y2.
I. State the domain of f(z,vy). Need 1o expression u”‘der \l * ke nanviecgrlie ©

] ey 204

II. State the range of f(z,v).
The vemge FJ I & [o=) Nt wha u=0, -0 ond e
e xy suchbiat (657470 (doke wlyU ), Alsg, Jos 00 goyoe
letbng x-) ndd y>e0 W,s s e The g v 1 [0)00) ‘1

III. Give the zz-trace of the surface.

Far X2 -bace: set y=0.> 2:‘16'3x°+o'

\ z= '[6’&3

IV. Give the equation of the level curve z = 4.

£=YH-= I 16 -Zth’

V. Determine lim  f(z,y).
(zy)—(2,1)

i JTeraseg = fieonar = Jlewd
) (2,10 -9 - E

VI. Find a function f(¢) such that the curve 7 (t) = (2t, f(t),t) lies on the surface.
,SUPPO% (Xl\[.l) 5oy Por‘n‘b o ‘f,’LQ cunf Q/m,( {.,Q sqrrtecc .

(xy,2) 15 on {le cune . o x=Jt, \ﬁ‘ﬂi} 21 for —
(kogie) 0 o B0 subae so o z= Jleae y%’ 16- 8> [Fu

Canuang ° = J16- 200674 [prLe
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3. [25 pts] A curve is described parametrically by:
{ z(t) =3 -3t
12
=1 —
y(t) "
for all t where z(t) and y(t) are well-defined.

[. Find Z—y in terms of ¢. Simplify your final answer!
x

dx_ .2 dy - 13 Jdy - di/d‘k _ Iagl

O&«st*_;)’ dt ta 0 odx dy./d{, 3{)’3
13
347 (1)

H
+4(-1)

II. Give the Cartesian equation(s) for any vertical tangent lines to the curve or state
that there are none.

We need 4 sub bt ;‘fi}-»:w 5 A0
but  where v,y onc debmeq PUaEnN=0 > €0,

Note  -that Y(O) 5 undehued, S0 tlece 1t yio verfical damgent lve ot 0!
(Lee 12 an azagﬁfinl,e"quph’fw;,‘),
The vedical fungent o x= x(-1) and x= x(1)
‘Xf J i le—) I

III. Give the Cartesian equation(s) for any horizontal tangent lines to the curve or state
that there are none.

\/\/6 Vieec) -’O, bt e at w such + walue
SWke L) +0 l

- r'\‘la lfmzon{;cd sy hp‘ﬂk’ )

oy
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IV. Find the Cartesian equation for the tangent line to the curve when ¢ = 2.
= gl‘\f ! - ; 'E‘L =
i L:— } (‘}51[{ ;)a“] _'J_’.. :

Whon = a: m,

v

Nai*.n% ()= A*-30)= 3
YO = 1= 5= -5

) -

\/—‘(‘5): 3Ix-A o )y

gues -

-
= 3 x

v

V. Find the Cartesian equations of any horizontal asymptotes to the curve or state that
there are none.

By 7:—?(;‘ as x> teoo
Recq“ Y= C 8 a Mmm\@q‘ aS‘_fmg&?le ATF and On\\/ FF

\_um ) =c

A>T oo

Heye, we see liw X“b) = amd [ 7&{.%)"“"‘,50

Po td- w0

we checl [em Y(t)‘: Jiws |- L}f l

e 4 *or

.
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4. [15 pts] Consider the polar curves r = 2 and r = 2 — 2 cos 0.

I. Find the polar form (r, ) for all of the intersection points of the curves.

In your answer(s), use values for § with 0 < 0 < 27.

Fom e piclures, we €x‘0€d "z
d ndevsechyn Pomks. (heck Twst:
A= - Aces D

“ 0= 20

(059;0 -~ g,: %\’ 3—5
Sinee = Jorkoth, tle F
(akerseckhion ks ave|(1r,0)=(3,5%) |

II. Set up, but DO NOT EVALUATE, an integral or sum of integrals that gives the area (&, j’g )l;
that lies inside of both the circle r = 2 and the cardioid r = 2 — 2 cos . e

_“\13 fﬁ*l hl&‘x 4
r=g! %

syl D) SWMLY\,, flo owed 15 twue
r=3-2o50 i.tb‘, - OJI\ e ghmk’d region

r=2
) )' -W\e adder cune dependi on wheirt

3 \fq‘l dvaw q i’Q.‘\/‘.

+ A= 3| § 4 G-aes0) abe (T30

1 Symmebiy

. v 2
S 2cosb])’d0 [T 27 a6

E

III. Set up, but DO NOT EVALUATE, an integral or sum of integrals that gives the area
that lies inside of the the cardioid r = 2 — 2 cos @ but outside of the circle r = 2.

Ay vy wall b r=d
Fsk | 2220090 st

y ‘ B\I SYmme‘,/yy\ 'HC aveq (S -['M(e {’Le

owved c}\ ‘h& shatled f?gw‘l

=2 ‘
\ . Tlf\m 15 d Snngb inyier ool audtr
x (e’
' 3 symnek
I Qo 2
- A‘z 5\ [QM&CV (hmﬂldg
T
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. [15 pts] Suppose a curve in three dimensions is given by the vector-valued function:

F(t) = (3t%,4t%,2) ,0< t < 1.

Determine if the curve is parameterized by arclength. If it is not, find a description of the
curve that uses arclength as a parameter.

A cune s partimebnzd by aclongth 1 and anly of
RIS e eyt

dep I Campate ()],
P = Lot, 8t O

! 7 — -
Ul J(G‘f}ﬂ(&f = J;&uéqt;' S W: (0%
7 The cume 15 NOT  povamelenzec! by cuelength'

SLQE): F\nd N(;\d ‘FK’YY) »= J\: ,F‘(’H‘oﬁ\'

f J‘ 10T o T
Yy = '\—J l 1
S‘t: & y_u!& y 1 ((;;cyea‘,mg\,;w{d}
e cune has length = 5/
SLCﬁ 3 . chl + as d -F\,m(#m O‘F A —

Hot, 700 oy has £ s we Pmd b7 E

Sep Y Subshitule .
’r‘(Jc = (3t ‘-H’ )> , 0etL|
)= (38, 4(E) 2

y """l
'F(»)f <3 , L“y 2y, 2

f
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6. [25 pts] Suppose @ =7 — j and ¥ = 2 + j are vectors in two dimensions.

[. On the axes provided, sketch @

II. Calculate ﬁl and ]32.

b= pey

13

—
-

i
S
u‘l
U

Q0 +

—

¥, P, = projz v, and P2

projz u.

—-§

N

(Y + (1) (-1
1

-4 A
2 )

3‘&

s

)

= \
é P —
L)

Nole mi,c ma{Ch "Hv‘?
veckors dvawig n !

= m U
= M) v
200+ (1X1)

<}
<% «b

\

.

<)
<l

] (27+7)

28 1A
5l+S)

III. Let w; be a vector parallel to ¥. Show that projg @ = ﬁg.

ﬂ\\ﬁ S‘H&W\Cﬂ‘\: SW\(J E ObVlGJS WCCL“\/‘,

(]Md\\fh(q“\i .
constamt C

PYOJ.\-/»V‘ a = {

To shaw it

mLe Swice \-7/' 13 PW““CI “D 't(pe)’\e (5 d
EU‘EW W= oV - cdd, 1) = L)
Uews b = T D)+ (-1)(c)
Uew oo A A
w,'w.S X {;lc‘ilch(c)(‘)x(&c 1+ CJB.

= —Czl e [ iy +?] |

=5 A A 3

- $te §l\) =b v
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Now, suppose that @ =12 — 7+ j: and @ = i + 27 + k are vectors in three dimensions.
IV. Find a vector 1, of magnitude 4 that is orthogonal to both @ and .

. A VQC%Y‘ Oy\—thogmal ‘E /\bo“ih ‘G ' 3 15

N

-~ 1
W ouxv Tkl | ) S

SN T30 053k

«
—_— - D

bt W= fer T [ o 3

o N W _
W= 3r<303> s o und vedor o T

Jwl
coved,  dweckion, 50 L{w s a vecdor of [engfh H
The uppropnc& clw({’m

W, = H& - 3P<303> Jﬂ" 3,0,
V. Verify that w, is orthogonal to both @ and 7. r ( ;2 j-ﬂ L N (2 ﬁ d

We check’
Y @3 QEMF o+ REN =

> S W, LU
(-a3)(1)+ 0(2)+ (R = 0 v

\

7)) W,V

- SQ WJ.L—\\/\



Answers:

1. Multiple choice

L.
II.
I1I.

C.
B.
B.

2. Short Answer

L
IL.
III.
IV.
V.
VL

IL.
I1L

IV.

IL.

IIL.

Domain: {(z,y)|16 — 2z% + y* > 0}

Range: [0, c0)
rz-trace is z = \/m
252 = g
3
f(t) = £/9t2 — 16
dy __4
Cdr tt—1t?
Vertical Tangent Lines: z = —2, z = 2

No horizontal tangent lines

_1 T
¥y=3¥73

Horizontal asymptotes are y = 1 as x — $00.

C (r,0) = (2, g) , (2, 3%)

w/2 T
/ (2 — 2cosf)? d6+/ 22 df
0 /2

/7r/2 [(2 —2cos0)® — 2%] df

5. The curve is not parameterized by arclength since |7'(t)| # 1 for all ¢.

A parameterization that uses arclength is 7(s) = <

6. L
IL.
I1L.

3s 4s
— —,2),0<s5<5.
5,5)>’ —S_

See solutions

~

J

o] =

P1=§i——2-jandP2:gi+

See solutions

IV. @, = (—2v2) i+ (2v2) k

V.

See solutions







